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o amatplotlib inline
import matplotlib.pyplot as plt
import networkx as nx
import random

G = nx.erid 2d graph(5,0)
pos ={(i,0):0i,0) for (i.i) in G.nodes() }
for {i,ji) in G.edges():

GLiT[i1["weizht™] = random.randint (1,107

edge labels = { (i jdestr(GLITLG] [ weight™]) far (i.i) in G.edgesi) ]
plt.fizgurel)

nx.draw (G, pos=pos,with_labels=False, node size=100) 1 5 4 1
n¥.draw_networkx_edege labels(G,pos,edee_labels=edze_lahels) ? ? ? ? ?
plt.show(] i T @ v «Q
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f11) dijkstraiZ D EITEFGR D IAE

o path = nx.diikstra_pathiG, (0,5), (4,00, weight="weizht™)

edze_|ist =[]
i = path[0]
for count in range(l,len(path)):
i = pathlcount]
edge_list.appendl (i,]) )
=]
plt.figurel)
nx.draw (G, pos=pos,with_labels=False, node size=100)
n¥.drawlG, pos=pos.with_lahels=False, node_size=100, edzelist=edze_list.edze_calor="zreen” ,width=10,alpha=0.3]
nx.draw_networkx edge labelsi(G,pos.edge labels=edge labels)

plt.show(] ? 1 ? 5 ? 4 ? 1
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dijkstrajk TERR i 5 f 4 i | i |
—
R G U S

@=»H=g@=) =g=—3=9 0@ 3@




Google Colaboratory T dijkstraj&Z=E i
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o matplatlib inline
import matplotlib.prplot as plt
import netwarkyx as nx

G = nx.Graph(]
G-add_WEightEd_EdgES_f rl:lml:[“ ,E,S:I ' “ ,3,5:' L [E,E,Ej L [25‘1,"'” ' (255,5) ' (354,2] ' (3,5,9:' ' |:4,5,3:| : [4,55"‘” s [5;5,2)]:'

pos = nx.spring lavout (G)

ni.draw_networks nodes(G, pos)
nx.draw_networkyx edges(E, pos)
nx.draw_networky: labels(G, pos)

edge_labels = nu.zet_edge_attributes(G, “weight™)
nx.draw_networky edge labels(G, pos, edege labels)
plt.show()
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{512) dijkstraiEZ D EITEFGR D IAIE

o path = nx.diikstra_pathiG, 1, B, weight="weizght™)

edge_list =[]
i = path(0]
for count in range(l,len(path)):

i = path[count]

edge_|ist.append( (i,j) )

=
plt.figurel]
ni.draw(G, pos=pos,with_lahels=True, node_size=300)
nx.draw(G, pos=pos,with_labels=False, node_size=100, edzelist=edge_list,edge_color= "green” width=10,alpha=0.3)
ni.draw_networkx_edge labels(G,pos.edge_labels=edze_labels)
plt.show()
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